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Lösung Berechnung des Forderungsausfall 

Bruchteil 
Aufgabe1 Aufgabe2 Aufgabe3 

10% 25% 45% 

Bruttorechnung 23.800,00 € 59.500,00 € 95.200,00 € 

- Bankeingang 2.380,00 € 14.875,00 € 42.840,00 € 

= Forderungsausfall brutto 21.420,00 € 44.625,00 € 52.360,00 € 

- USt.-Korrektur (19 %) 3.420,00 € 7.125,00 € 8.360,00 € 

= Forderungsausfall netto 18.000,00 € 37.500,00 € 44.000,00 € 

- geschätzter Forderungsausfall 18.000,00 € 37.000,00 € 46.000,00 € 

Aufwand -   € 500,00 € -   € 

Ertrag -   € -   € 2.000,00 € 
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